
1. Nahar Wildlife Sanctuary is situated in which 

(1) district of Haryana ? 

(2) tarETR (1) Mahendragarh 

(3) an (2) Faridabad 

(4) (tara) (3) Rewari 

(5) (4) Nuh (Mewat) 

(5) Not attempted 

2 2. When the Haryana Public Service was 

(1)1968 Commission established? 

(2) 1965 (1) 1968 

(3) 1966 (2) 1965 

(4) 1967 (3) 1966 

(5) 3 (4) 1967 

(5) Not attempted 

Who is the first Lokayukta of Haryana? 3. 

(1) a1q uHa 

(2) sfta zHR 

(1) Babu Parmanand 

2) Ranjeet Kumar 
(3) Nawal Kishore Agarwal 

(3) 
(4) Pritam Pal 

(4) 
5) Not attempted 

(5) 

Hfa 4. 
Gurudwara (Ambala) is 

Panjokhra Sahib 

4. 
yTRaHTga TERT (34TM) 

dedicated to the memory of 

(1) Guru Sri Harkishan Sahib ji 

(2) Guru Hargobind 

(2) ite (3) Guru Tegh Bahadur 

(3) (4) Guru Gobind Singh 

5) 
Not attempted 

(5) The East longitude 
extent of Haryana is: 

5. 

(1) 71°28' to 77°36 

(2) 
70°28' to 77°36 

74 27'8" to 77 36'5" 
(1) 71°28' 77°36' 

(3) 

(4) 77 28' to 84°38 

(2) 70°28' H 77°36' 

74°27'8" 77°36'5" 

(3) 
Not attempted 

(5) 
(4) 

77 28' 84°38' 

(5) ty 
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there in 

atrT 3fda5 Hdarm (2021 22) 3HR zaroyn |6. 
Sub-Treasuries are 

6. How many 

Haryana according to the Haryana Economic 

Survey (2021 22) ? 
F fead 3y.aNPIR 
(1) 74 

(1) 74 
(2 23 

(3) 82 (2) 23 

(4) 92 (3) 82 

5) (4) 92 

(5) Not attempted 
7. 

What is the total number of registered Atal 

Service Centres in Haryana? 
7. 

(1) 20,552 
(1) 20,552 

(2) 16.552 
(2) 16,552 

3) 17,552 
(3) 17,552 

4) 18,552 
(4) 18,552 

(5) 
(5) Not attempted 

farita a 2022 23 EtATUT T qz FT . 

What percentage of its total expenditure has 

been allocated towards Agriculture in Haryana 

State Budget for the financial year 2022 2023? 
? 

(1) 9-8% 
(1) 9-8% 

(2) 62% 
(2) 6-2% 

(3) 5-7% 
(3) 5-7% 

4) 43% 
(4) 4:3% 

(5) 
5) Not attempted 

ATY Taay (2020 - 21) 4HR FATUT 51 T 

9. 
9. 

f a37a fa-t? 
What is the per-capita annual income of Haryana 

as per Economic Survey (2020 -21)? 
(1) 2,35,707 (1)2,35,707 
(2)71,85,630 (2) 1,85,630 

3) 1,90,950 (3) 1,90,950 

(4) 7 2,90,630 (4) F 2,90,630 

(5) Not attempted 

10. Ta "a aa1, ai TG1AT" I JHY 14H510, "Beti Bachao, Beti Padhao" was launched in 

Panipat by 
(1) Shri Ram Nath Kovind 

(2) aig Hré (2) Shri Narendra Modi 

(3) Shri Manohar Lal Khattar 

(4) Shri Kaptan Singh Solanki 

(5) (5) Not attempted 
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11. 11. "Ladli Social Security Allowance Scheme" was 

(1) 1 a, 2006 launched on: 
(1) 1st January, 2006 

(2) 1 Fat, 2005 

1 H, 2006 (3) (2) 1st January, 2005 

1 HT, 2005 (3) 1st March, 2006 (4) 

(5) (4) 1st March, 2005 

(5) Not attempted 12. aitTOTT ffafz ist T faTR fay 1923 
Who founded the Zamindar League' along with 
Fazl-i-Hussain in 1923 to spread the reach of the 

Unionist Party in Haryana ? 
FTYHT 5? 
(1) 3 TF5R GA 

(1) Abdul Ghaffar Khan 
(2) 

(2) Rao Tularam 
(3) 

(3) Pandit Nekiram Sharma 
(4) 

4) Sir Chhotu Ram 
(5) 

5) Not attempted 

13. THG 5 TT 3TGE I7 H 13, The famous writer Dharnidhar in his boo 
Akhand Prakash addressed the State of Haryana 

(1) with the word 

(2) (1) Aryana 

(3) zta- (2) Kuru Jangal 

(3) Haritanak 

(4) Haribanka (5) 
(5) Not attempted 

14. zeT Taa ifgaT ufea | 
14. On which occasion is Khoriya', the famous dan 

form of Haryana most commonly performed 

(1) (1) In the month of Saawan 

(2) (2) During Holi 

(3) (3) On child birth 

(4) faaTE SAH T 

(5) 3 7Ei 2A1 TEd 
(4) On the occasion of marriage 

(5) Not attempted 
im 

15. 
15. zam -I fT FTT (VI I di 15. Which district is famous for 'Surahi' (a s 

necked pitcher) in Haryana? 

(1) Fatehabad 
f sfaz ? 

(1) 
(2) Gurugramn 

(2) 
(3) Rewari 

(4) Jhajar 
(4) 

(5) Not attempted 
(5) 
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Morni Hills, a tourist attraction point, is situated 16. yaza51 61 316NUy ata - HttA fdru, aa à faH|16. 
in which district of Haryana? 
(1) Charkhi Dadri (1)a qat 
(2) Panchkula (2) 

(3) Jind (3) 

(4) Ambala 

5) Not attempted (5)3R AT TE 

Where is the Rajiv Gandhi Renewable Energy 
Park situated in Haryana ? 

17. 

(1) Ha 
(1) Sonipat 

(2) T-
(2) Panipat (3) 
(3) Gurugram 

(4) iTAT 
(4) Faridabad 

5) 
(5) Not attempted 

18. 
18 The highest elevated area of the Aravalli hills in (1 HATR 7fgaT (Haa fera) Haryana is 

(1) Mewat Hills (2) TetEfai (uteit fra) 
(2) Dhosi Hills (3) 

(3) Karoh Peak (4) feT 6t 8f4T (feaT fa) 
(4) Tipra Hills (5) 3 
(5) Not attempted 

19. 

19. What percentage of the total land in Haryana HTT? 
comes under agriculture? (1) 81% 
(1) 81% (2) 70% 

(2) 70% (3) 76% 

(3) 76% (4) 77% 
4) 77% 

(5) Not attempted 
20. 

The first Grain ATM (Annapurti) of Haryana 
State has been set up in which district? (1) 
(1) Panchkula 

(2) 
(2) Sonipat (3) TTH (3) Gurugram 

(4) HT-R 
(4) Yamunanagar 

(5) 
(5) Not attempted 
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is also knoWn � 

Which dance form of Haryana is also kn. 21. 

Haryanavi Gidda' ? 31H1 ? 
Ratwai (1) (1) aaT 

(2) Swang 
(3) Gugga (3) 

(4) Jhumar (4) 

(5) Not attempted (5) 

22. Who among the following is known as 
22. 

Haryana Hurricane'? 
(1) Kapil Dev (2) H 3Ef 
(2) Mansoor Ali 3) fad f 
(3) Vijender Singh (4) ite FHR 
(4) Sushil Kumar (5) 
5) Not attempted 

Nirmal Gulia from Haryana is associated with which sport? (1) Ta 
(1) Handball 

(2) 
(2) Hockey 

(3) faHrH/THRA 
(3) Gymnastics 
(4) Judo 4) 

5) Not attempted 
5) 

24. rfiea a zRarn fH f HIHTT 24. Who among the following personalities ro Haryana received the Padma Shri in 2022 in the 
field of Social Work ? 

1 
(1) Raghuvendra Tanwar (2) 

(2) Moti Lal Madan 
(3) 

(3) Neeraj Chopra (4) 

4) Om Prakash Gandhi (5) 

(5) Not attempted 25. 
25. Gugga Naumi festival is celebrated all o Haryana in . (1 

(1) the lunar month of Phalgun (2) 
(2) the lunar month of Kartik (3) 
(3) the lunar month of Bhadon (4) the lunar month of Shravan 

4) 
(5) (5) Not attempted 
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Rearrange the following parts of a sentence | Read the following passage carefully and answer 26. 
labelled as PQRS to make a meaningful questions 29, 30 and 31. 

sentence. 

Street theatre in India is a well-established P. power to work is a blessing and 
ancient art form. Despite the proliferation of let us realize that the privilege modern means of entertainment and 

R. the love of work is success communication, street theatre continues to 

S. to work is a gift, the flourish in India. 

(1) QRPS Street theatre as a channel of communication has 
for centuries been propagating reforms by 
highlighting social, economic and political issues 
present in the society. Unlike in the olden days, 
its performance is no longer restricted to villages 
or small localities of the city. They create or raise 

(2) SRPQ 

9SPR 

4) PSRQ 

(5) Not attempted 

awareness over a particular issue of public 27. Choose the correct passive voice form of the importance. 
following sentence. 

Bring a cup of coffee. 29. In olden days, street theatre villages 
or small localities of the city. (1) He requests you to bring a cup of coffee. 
(1) entertained 

(2) You are requested to bring a cup of coffee. (2) was restricted to 
(3) Let a cup of coffee was brought. (3) was not restricted to 

4 Let a cup of coffee be brought. (4) was opened to 

5) Not attempted 5) Not attempted 

28. Pick out the part of the following sentence which|30. 
has an error. If there is no error, your answer is 

Modern of entertainment means and 

communication . street theatre. 
(4) 

1) helps establish 
One of the state in which 

(2) does affect 
A 

(8) does not affect 
Satyagraha was offered was Rajkot 

(4) helps popularise 
B 

(5) Not attempted 
where he spent his youth. 

with issues of 

C 31. Street theatre usually 

public importance. 
B 

(1) does not deal 
(2) C 

(2) is distanced 

(3) A 
(3) is performed 

(4) No error (4) deals 

(5) Not attempted (5) Not attempted 
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32. Choose the correct alternative to improve the| 36. Pick out the correctly spelt word. 

underlined part of the following sentence. If no 
(1) nuisence 

improvement is required, your answer is (4). 

(2) privelege 
Don't judge each day by the harvest you reap but 
by the seeds that are planting. 

(1 that you plant 

that will be plant 

(3) familiar 

(4) usualy 

(5) Not attempted (2) 
3) when you plant 

wor 
Pick out the antonym of the underlined 37. (4) No improvement 

5) Not attempted the following sentence. 

Fill in the blank with the suitable preposition. 
A little learning is a dangerous thing. 33. 

(1) smooth The boy red hair is my brother. 
innocuous (1) from 

(2) of (3) devilish 
3) for (4) plain 

5) Not attempted 4 
5) Not attempted 

with 

38. 34. In the following sentence, a word is underlined. 
Pick out the synonym of the underlined wori 
the following sentence Beneath the sentence, four different ways of| phrasing the underlined word are indicated. 
The child longed for the mother's love. 

Choose the best alternative among the four. 
(1) refused 

(2) craved "Despite losing a lot of money in the stock market crash, Suresh remained unphased." (3) shouted 
(1) unfizzled 4fell 
(2) unfazed (5) Not attempted 
3) unfaced 
4) unphazed 39. Pick out the correctly spelt word. 
(5) Not attempted (1) intitutionalize 

Find out the correct indirect speech of the | (2) intutionalize 35. 

following sentence. (3) institutionalize 
She said to her father, "Will you give me| (4) instutionalice 
sweets" ? (5) Not attempted 
(1) She has asked her father if he would give| 

her sweets. 40. Pick out the correctly spelt word. 
(2) She requested her father to give her sweets. (1) suggession 
(3) She requested her father if she would give (2) sugestion 

her sweets. 
(3) suggestion 

(4) She asked her father if he would give her 
(4) suggesstion sweets 

Not attempted 5) (5) Not attempted 
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41. 

(1) 1 = aÍTAI, tT, Ytra (1) 

(2) 
(3) (3) 3 M, TY, TUT 
(4) HTdvS 

(4) 3T= 4EHI, TqTÈ, fATTAT 
5) 

(5) 

46. HTI-9 
(1) 3 J3I T- 3faa 

2 (1) 4EHR 

(3) (2) 
(3) T 

(4) (4) 54T 

(5) 

(1) HT 
(1) 

(2) 3HCICT 
(2) 

(3) (3) 

4) 4) 

(5) 3Ei Td (5) 

48. 44. 4THHH 3a faE 
(1)T (1) 
(2) 

(2) 47 FIT 
(3) 

(3) T 3FHTT 
(4) 

(4) f 
(5) 

(5) 
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53. 

49. 

(1) 

(2) 
(2) 

(3) m-fait stz 
(3) 

(5) 

ferT f , 
50. 

(4) 394T 

(5) 3 I (1) 3UT STG 

(2) TG 

3) 54. 

4) 

(5) 3FR } 
(1) Ha, TH4 3itr facafi 3THi 

(2) 

51. (3) THH 34HT 

(4) fcpt 34H 

(5) 
(2) 

(3) 
55. 

(1) 
(5) 

(2) 
52. ffafea fai } 7FH4 TEafy 

(1) (3) 

(2) 

(3) 

(4) fera 
(5) 3 AI aIEA (5) 
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Three statements are followed y three 
56. 

conclusions. Take the statements to be true even 
if they seem to be at variance from the commonly 

which of the given 
known facts. Decide 

conclusions logically follow(s) from the given 
statements. 

Statements: Some tables are chairs. 

Some chairs are beds. 
() 

All beds are rooms. 
(ID 

Conclusions: () Some rooms are tables. 

(II) Some rooms are chairs. (1) II AAT 

(III) Some beds are chairs. 2 
(1) Only II follows. (3) I 3t II fAaa (2) Only I and III follow. 
(3) Only I and II follow. (5) 
4) Only II and III follow. 
5) Not attempted 

(1) 9,18, 27 
Find the odd one out. 

57. 
(2) 6,9,18 

(1) 9, 18, 27 (3) 7, 14, 21 
(2) 6,9, 18 

4) 8, 16, 24 
(3) 7,14, 21 

(5) 37 Ei AT TEd (4) 8, 16, 24 

(5) Not attempted 58. 

HTTTH ai qTaI ufa £1 Hi *" I rT 58. Pointing out Pointing out to a lady, Raja said, "She is the daughter of the woman who is the mother of the 
(1) A 

husband of my mother". Who is the lady to Raja? (2) T 
(1) Sister 

(3) 
(2) Aunt 

(4) 
(3) Daughter 
(4) Sister-in-law 

(5) 

5) Not attempted ARAMIC3/Page 11 
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Letters and their number codes are given in the following table: 
59 

XP R 3787 E M T 

EXP MRS|T 
Number Code 1 2 4 7 9 3 5 

Letter 

79 2 4 3 5 

You have to find out which of the alternatives 
has the correct coded form of EMRS'. 

1937 (1) 1937 (1) 

1793 (2) 1793 

(3) 1973 (3) 1973 

(4) 1925 (4) 1925 

5) (5) Not attempted 

60. F aI Pà Q FATA T6 5 3ET1-FFT 60. A bus driver knows five different routes from a 60. 
place P to Q. From Q to R he knows three 
different routes and from R' to 'S' he knows two 

different routes. How many routes does he know 

from P' to S'? 

(1) 16 (1) 16 

2 10 (2) 10 

(3) 20 (3) 20 

(4) 30 4) 30 

(5) (5) Not attempted 

61. Find out the word which can be formed by using 
61. 

the letters of the given word. 

CONSOLIDATE 

CONSOLIDATE 
DETAIL (1) 

DETAILL 1 
(2) NASAL 

(2) NASAL 

(3) LOCAL 

(3) LOCAL (4) LENTIL 

(4) LENTIL (5) Not attempted 

Tf 2 4T9T 
MANGO 13114715 EY 62. 

t4A 
8, 1 3ui 4TT FIGHT fea 

(5) 

language, then how will FIGHT be coded in that 

same code language? 

If MANGO is coded as 13114715 in a certain code 

62. 
(1) 697620 

(2) 696819 

(1) 697620 
(3) 697819 

(2) 696819 

697820 (4) 

(3) 
697819 

(5) Not attempted 

T 
tay ATA/ SPACE FOR ROUGH WORK 

6173 90 

697820 

(4) 
(5) 
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Select the combination of numbers so that the 
letters arranged accordingly will form a 
meaningful word: 

NTE RO M 
N T E ROM 

1 2 3 45 6 
12 3 4 5 6 

(1) 6, 5, 4, 3, 2, 1 
(1) 6,5, 4, 3, 2, 1 

(2) 2, 5, 6, 3, 1, 4 
(2) 2,5,6, 3, 1, 4 

(3) 6, 3, 2, 1, 4, 5 
(3) 6, 3, 2,1, 4,5 

46, 3, 1, 2, 5, 4 MENTO 4) 6, 3, 1, 2, 5, 4 

(5) Not attempted 

64. feam aaT fA ? 64. Find the odd one out. 

ZERO (1) ZERO0 

(2) CARRE (2) CARE 

(8) PALE (3) PALE 

(4) STAR (4) STAR 

5) Not attempted 5) 3 i T 

fq 7 y f taT t v65. Choose the correet alternative which is related to 

the third term in the same way as the second 
65. 

term is related to the first term 

:4T: faTet:? Sheep: Lamb: : Butterfly: ? 

(1) Nymph 1 
(2) Tadpole 

(2) 
3) Larva 

(8) 
(4) Caterpillar 

(4) 3 5) Not attempted 
5) 37 TEi AT T 

66. Choose the correct option in which two terms of 

the pair are related in the same way as in the 

pair given below: 

A B: Cg D A Ba: Cg D4 
(1) G15 H16: I17 J18 (1) G15 H16: 17 di8 

(2) WsX: Y Z 
(3) Pa617: Ris S19 
4) M1 N12:O13 P4 

(2) WXg: Y7 Zg 
(3) Pi6 I7: Ris S19 

(4) M N2:Oa Pa 
5) (5) Not attempted 
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67. 
Five persons are sitting in a row facing Na 

Nort Sunita is sitting to the immediate right 
Pankaj. Kamal is sitting next to Raja wh 
sitting on the extreme left and Tara is not sits. 

next to Kamal. Who are sitting adjacent (1) 
Sunita ? 

(2) 
(1) Raja and Tara 

(3) 
(2) Kamal and Tara 

(4) st aT 
(3) Pankaj and Kamal 

(5) 
(4) Pankaj and Tara 

68. (5) Not attempted 

(1) 8. When you visit any historical place, you try to : 

(1) just pass time moving from one place 

another. 
(2) 

(2) just enjoy with your friends. 

éxplore the cultural or social aspect of t-

design. 
(3) 

(4) take pictures and enjoy a break from (4) 
monotonous life. 

(5) (5) Not attempted 

69. fAHea HeI jeI H T77 (?) FTA R69. What will come in place of the question mark 

in the following number series? 

99, 80, 63, ?,35, 24, 15, 8, 3, 0 
1 ) 3 

99, 80, 63, 2,35, 24, 15, 8, 3, 0 

3 

(1) 42 (1) 42 

(2) 38 (2) 38 

(3) 58 
(3) 58 

(4) 48 
48 

(5) Not attempted 
5) 3 T 2A1 TE 

What will come in place of the question mark 

in the following numerical series? 70. 

14, 19, 35, 59,2, 179, 299 
14, 19, 35, 59, ?, 179, 299 

(1) 129 
(1 129 

(2) 131 
(2) 131 

(3) 130 
(3) 130 

(4) 132 
(4) 132 

(5) Not attempted 
(5) 

T 6T a fory FeTA/SPACE FOR ROUGH WORK 
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Which of the following statements is/are correct 
71. 

about Apical Meristem? 
(a) It is present at the growing tips of stems 

(a) 
and roots and increases the length of the 
stem and the root. 

(b) Due to this the girth of the stem or root 
increases. 

It is seen in some plants and located near 
the node. 

(c) 

(1) 7 (c) 
Choose the correct option from the codes given 
below (2) (a) 7 (b) 

3) (b) aT (c) (1) Only (c) 
(2) (a) and (b) (4) (a) 
(3) (b) and (c) 

Only (a) 
Not attempted 

(4) 
(5) 

72. An object travels 9 metres in 3 seconds and then 
another 23 metres in 5 seconds. What is the (1) 6 He sta HS 
average speed of the object ? 
(1) 6 m/s 

(2) 3 Ht sfa HeE 

3) 4 Het fa ds (2) 3 m/s 
32 (3) 4 m/s 

(4) 5 m/s 

5) Not attempted 73. ara sita faa, 2022' faraa I? 
73. What is the theme of the World Ozone Day', 

(1) 
2022? 

(1) "Delhi Protocol30 Protection of Life (2) 
through GHobal Cooperation" 

(2) Rio Protocol 36: Global Cooperation for Protection of ozone" 
(4) (3) "Montreal Protocol for Protection of 

Eeology" 
(4) "Montreal Protocol 35 Global 5) 

Cooperation Protecting Life on Earth" 
(5) Not attempted 

74. á ú a (HTTPS) 
f34 AzA TIHIt 3 444 3y faT SHI 74. HTTPS is an acronym for . which should 

be used while entering sensitive information. 

(1) Hyper Text Transfer Protocol Sequence 

(2 Hyper Text Transfer Protocol Secure 

(3) Hyper Text Transmission Protocol Secure 

Transmission Protocol Text Hyper 
Sequence 

(4) 

(5) 
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75. a 1960 Ta 3tr HRRTE TH à av qri 75. Which among the following States in 1960 

bifurcated to create two new States of Guia 
arat 

and Maharashtra? 

(1) ATT (1) Nagpur 

(2) (2) Bombay 

(3) 3H8HTT (3) Ahmedabad 

4) (4) Daman 

(5) (5) Not attempted 

76. Among the following countries, which was th 

last country to give voting rights to women ? 

(1) Saudi Arabia 

(2) China (2) 

(3) Pakistan 
(3) 

4) Mexico (4) AfFH%I 
(5) Not attempted 

(5) 

77. With whom is the Cash Reserve Ratio (CRI 

77. kept ? 

TI? 
(1) Finance Commission of India 

1) 
(2) Comptroller and Auditor General of India 

(2) 
(3) Reserve Bank of India 

(3) (4) International Monetary Fund 

4) 3aigta yai i Not attempted (5) 

5) 
78. Which among the following countries ranked ti 

highest on the "Ease of Doing Business" Index 

2021? 

(1) Portugal 
(1) TTT 

(2) India 
(2) 

(3) China 
(3) 

(4) New Zealand 
(4) 

(5) Not attempted 
(5) 

fau zeraI sPACE FOR ROUGH WORK 
ARAM/C3/Page 16 



What is the name of the sorting method that 
refers to sorting a given list of elements and 

swapping them if they are unordered ? 

(1) Deque (1) 8 () 
(2) Selection Sort (2) etarA H*E 

(3) Insertion Sort (3) 

(4) Bubble Sort 4) 

(5) Not attempted (5) 

80. Which of the following network device extracts 
the destination address from the data packet and 

80. 

looks it up in a table to see where to send the 
packet and sends signals only to selected 
devices ? 

(1) (1) Gateway 
(2 (2) Hub 
(3) 

3) Switch 
(4) 

(4) Router 
(5) 

5) Not attempted 

81. Which of the following options lists all devices 
81. 

used for output from a computer? 
(1) Flat panel display, Plotter, Barcode scanner 

(2) (2) Laser printer, Optical character reader, 
Plotter (3) 

(4) (3) Laser printer, Inkjet printer, Scanner 
(5) 4) LED display monitor, Inkjet printer, Plotter 

(5) Not attempted 

fafen a- 3im zazifA6 fafafu 82. Which of the following lakes is the result of 

82. 

tectonic activity? 

(1) Kolleru Lake (2) 
(2) Sambhar Lake (3) aI 3Aa 
(3) Chilika Lake 

4) t 
(4) Wular Lake 

5) 3F 7 IEA 
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Which of the following word/s was/were added . 

the Preamble of the Indian Constitution in 1970 
through the 42nd Amendment ? 

V&141 42d Htya GRI 1976 )? 

(a) Socialist 

(b) Sovereign 
(C (c) Democratic 

(d) yafArda (d) Secular 

Choose the correct option from the codes given 
below 

(11 
(1) (a) and (d) 

2) 
(2) Only (b) 

3) (a) TYT (c) 
(3) (a) and (c) 

(4 (c) 7T (b) 
(4) (c) and (hb) 

5 
(5) Not attempted 

s4. fTHfgCTT 1 TRAUT 34TY4, 2005R4 Which among the following statements is not 

correct with regard to the Protection of Women 

from Domestic Violence Act, 2005? 

(1) Sexual abuse is considered a form of 

domestic violence under the Act. 

(2) (2)The Act protects women from both physical 
and verbal abuse. 

(3) The Act does not extend to live-in' 

relationships and only covers marital 

households. 
(4) 

(4) Economic abuse is considered a form of 

domestic violence under the Act. 

(5) 
(5) Not attempted 

85. TaT HTA 85. Where the 20th meeting of was 

frTT AA 23 fqa, 2022 yA aT| the Shanghai Prosecutors-General of 

Cooperation Organisation (SCO) Member States 

held on 23rd September, 2022? 
(1) 

(1) Astana 
(2) 

(2) Tokyo 
(2) (3) Tashkent 
(4) 1a 

(4) Kiev 
5) (5) Not attempted 
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Oranges are bought at 5 for 10 and soldat 

6 for15. The profit percent is 

10 ATa T N : Ha 15 Ta 86. 
B6. 

(1) 50% 50% (1) 
25% (2) 25% 

2) 
35% (3) 35% 

(3) 
40% (4) 40% 

4) 
(5) Not attempted 

o7 f ft 7m7 7% aff7 7 À 15 HIT 8. f the simple interest on a certain sum for 

15 months at 7% per annum exceeds the 
TTRUT , 3Ht eARiT 7 12% a 8 4TH| 

simple interest on the same sum for 8 months at 
HTATEUT s ÀT 3250 3f5 , AAT (T d)| 

12 per annum, by 3250, then the sum (in 
)is: 

(1 3,250 
(1) 3,250 

(2) 3,000 
(2) 3,000 

(3) 3,060 
(8) 3,060 4) 3,120 
(4) 3,120 
(5) Not attempted 

88. A v rM 15 7AT B 3 51 20 TA "|88. A can do a work in 15 days and B in 20 days. If 
they work on it together for 4 days, then the 
fraction of work that is left, is 

(1) 8 
(1) 

15 

2) (2) 

(3) 1 
1 10 (3) 
10 

(4) 
15 (4) 

5) 15 

5) Not attempted 
89. T 3T iT TI tg 4T: 3 : 2 1 4YA89. The ratio of length and breadth of a rectangle is 

3:2 respectively. The ratio of its perimeter and 
area is 5: 9. The breadth of the rectangle (in 
metres) is: (1) 13 

(2) 6 (1) 13 

(2) 6 (3) 8 
(3) 8 

(4) 9 
(4) 9 

(5) Not attempted 
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pl. p 4 1 p * aa ts a| 90. If Ipl denotes the greatest integer less than or 
90. 

NTTa8. equal to p, then 

|21 

is equal to 

(1) 6 (1) 6 

(2) (2) 3 

(3) (3) 4 

(4) 5 (4) 5 

(5) 3 i AT aTE (5) Not attempted 

A boy was asked to multiply a certain number by ys ErEAI5 25 TUm À AT. 
TEF , 3HA HI 52 JoM ffAT fsHÀ JHI 

91. 

25. He, by mistake, multiplied the number by 52 
and got the product which was greater than the 
correct product by 324. The number to be 

(1) 52 multiplied was: 
(1) 52 (2) 12 

3) 15 (2) 12 

(3) 15 (4) 25 

4) 25 (5) 
(5) Not attempted 

92. 
If n be any natural number, then by which 

greatest number is (n3 - n) always divisible? 

(1) 18 (1) 18 

(2) 3 (2) 3 

(3) 6 (3) 6 
(4) 12 (4) 12 

(5) (5) Not attempted 

y varies directly proportional to (x + 3) and y = 8 93. y, x +3) 4TF4Tci 7my = 8 T x = 1 93. 
x=2% fu y 1 HTA 1? 

when x =1. What is the value of y when x = 2? 

(1) 16 (1) 16 
(2) 6 (2) 
(3) 10 (3) 10 

(4) 12 (4) 12 
(5) Not attempted (5) 
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Z a À qu pa yt AT frud 3À fMauy a94. A milkman mixed some water with milk to gain 
94 

25% by selling the mixture at the cost price. The 
ratio of water and milk, respectively, in the 

mixture is: (1) 1:4 

(1) 1:4 (2) 5:4 

(2) 5:4 3) 4:5 

4) 1:5 (3) 4:5 

(4) 1:5 

(5) Not attempted 

95. 3 24 1.. f àT 3 tÀ. sta 

A bus moving at a speed of 24 m/s begins to slow 
at a rate of 3 m/s each second. How far does it go 
before stopping ? (1) 96 4 

(1) 961 (2) 48 4 

(2) 48 r m (3) 60 

(3) 60 1 m 4) 72 . 

(4) 72 I (5) 

(5) Not attempted 

96. AAT 85,000 TT T a9R ATTH T| FS 
H4 RETq F 42,500 T B 3H AT4R fH96. A began a business with F 85,000. He was joined 

afterwards by B with 42,500. For how much 
period does B join, if the profits at the end of the 
year are divided in the ratio 3:1? (1) 8 7ATA 

(1) 8 months (2) 4HTH 

(2) 4 months 
(3) 5 HTH 

(3) 5 months 
(4) 6 4T 

(4) 6 months 
(5) 

6) Not attempted 
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A man spends 75% of his income. Hfis income. 

increased by 20% and he thus also increased hi 

expenditure by 10%. His savings increased by: 

97. 
is 

3ATHA 20% a7 T&a a t 10% 

(1) 50% (1) 50% 

(2) 10% (2) 10% 

(3) 25% 3) 25% 

4) 37 (4) 37 
5) Not attempted 5) 

98. 
TT8I 1 ferà 7, Fi T98. When 15 is included in a list of natural numbers, 

their mean is increased by 2. When 1 is included 

in this new list, the mean of the numbers in the 
(1) 8 

new list is decreased by 1. How many numbers 
(2) 4 were there in the original list ? 
(3) 5 (1) 8 

(4) 6 (2) 4 

5) 3 i A (3) 5 

(4) 
99. :FHAT a, b, c, d, e, f E T5R f5ab = 1,| (5) Not attempted 

=cd 6, de = 2 T2T ef= (ad : be : cf) 

99. Six numbers a, b, c, d, e, fare such that ab = 1, 

be = cd = 6, de = 2 and ef =.What is the 
(1) 72: 1:9 

(2) 4:3:27 value of (ad: be: cf)? 

(1) 72:1:9 
(3) 6:1:9 

(2) 4:3:27 
(4) 8:9:9 (3) 61:9 

(5) (4) 8:9:9 

(5) Not attempted 
100. A ATHZ 351 5%, B 3T4 515% T 

B 3AT4i 1 10%, C 1 3THGT 5 20% 100. 5% income of A is equal to 15% income of B ana 

ara afe C ATHt 2,000, a A, B a1 C 10% income of B is equal to 20% income of C. 

If income of C is 2,000, then the sum of the 
incomes (in F) of A, B and C is 

(1) 18,000 
(1) 18,000 

(2) 6,000 
(2) 6,000 

(3) 9,000 (3) 9,000 
(4) 12,000 (4) 12,000 

(5) 3 A IA (5) Not attempted 
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